

$$x^2 - 5x + 2 = 0 \rightarrow \alpha, \beta \rightarrow \text{ریشه ها} \quad \frac{\alpha + \beta}{\alpha\beta} = ?$$

$$P = \alpha\beta = \frac{c}{a} = 2 \rightarrow \beta = \frac{2}{\alpha}$$

$$S = \alpha + \beta = -\frac{b}{a} = 5 \Rightarrow \frac{\alpha + \beta}{\alpha\beta} = \frac{\alpha}{\alpha(\frac{2}{\alpha})} + \frac{\frac{2}{\alpha}}{2} = \frac{1}{\alpha}(\alpha + 1)$$

$$\frac{1}{\alpha}(5 - 2ps) = \frac{1}{\alpha}(5 - 2(2)(5)) = \frac{1}{\alpha} \cdot 9\alpha = 9 \rightarrow \text{جواب: } 9$$

$$(3, -1) \rightarrow 9a + 3b + c = -1$$

$$(-1, 5) \rightarrow a(\frac{9}{1}) + b(\frac{-3}{1}) + c = -1$$

$$9a - \frac{9}{1}a + (3b + \frac{3}{1}b) + (c - c) = 0 \rightarrow 3a + 2b = 0$$

$$S = -\frac{b}{a} = -\frac{-\frac{3}{2}a}{a} = \frac{3}{2} = 1,5 \rightarrow \text{جواب: } 1,5$$

$$x^2 + 2kx + 1 = 0 \quad \alpha - \beta = \frac{\Delta}{P} = k \rightarrow \frac{\sqrt{\Delta}}{|a|} = \frac{\Delta}{P}$$

$$\sqrt{\Delta} = \Delta k - 1 \rightarrow \frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{\Delta k - 1}}{1} = \frac{\Delta k}{P} \rightarrow \Delta k = 3\sqrt{\Delta k - 1} \rightarrow 14k^2 = 9(\Delta k - 1)$$

$$\rightarrow 14k^2 = 34k^2 - 18 \rightarrow 18 = 20k^2 \rightarrow k^2 = \frac{9}{10} \rightarrow \left[\frac{k^2}{P}\right] = \left[\frac{9}{10}\right] = \frac{9}{10} \rightarrow \text{جواب: } \frac{9}{10}$$

$$A = (x, y) \quad B = (-5, 9) \quad \text{ریشه ها} \rightarrow \alpha, \beta$$

$$\frac{\alpha + \beta}{P} = \left(\frac{-5 + 9}{1}\right) = 4 \rightarrow \alpha + \beta = 4 \rightarrow S = \frac{P}{P} = 1$$

$$\alpha + \beta = 4 \rightarrow (\alpha + \beta)^2 - 2\alpha\beta = 16 \rightarrow \alpha\beta = \frac{15}{2}$$

$$y = a(x^2 + 2x - \frac{1}{2}) = 1 \rightarrow a(1 + 2 - \frac{1}{2}) \rightarrow a = \frac{2}{3} \rightarrow y = \frac{2}{3}(x^2 + 2x - \frac{1}{2})$$

$$\rightarrow x = 0 \rightarrow y = \frac{1}{3}$$

$$F(\frac{9}{1}) < 0 \Rightarrow -(\frac{9}{1})^2 + 5(\frac{9}{1}) + m < 0 \Rightarrow -\frac{81}{1} + \frac{45}{1} + m < 0 \rightarrow m < \frac{36}{1} = 36$$

$$\text{دارای دو ریشه} \rightarrow \Delta > 0 \rightarrow 25 + 4m > 0 \rightarrow m > -\frac{25}{4} = -6,25$$

$$-6,25 < m < 36 \Rightarrow m = -5, -5, -3, -3 \rightarrow \text{جواب: } 4$$



$$y = mx^r - 12x + am - 1 \xrightarrow{\text{مشتق}} (mx^r)'$$

$$y = 2 \rightarrow \frac{-\Delta}{\varepsilon a} = 2 \rightarrow -\Delta = 1a \rightarrow \Delta = -1a \rightarrow \Delta = -1m$$

$$1 \varepsilon \varepsilon - 20m^r + \varepsilon m = -1m \rightarrow 1 \varepsilon \varepsilon - 20m^r + 12m = 0 \xrightarrow{\text{مربع}} -20m^r + 12m + 1 \varepsilon \varepsilon = 0 \xrightarrow{\div \varepsilon} -20m^r + 12m + 1 = 0$$

$$-20m^r + 12m + 1 = 0 \rightarrow m^r + 12m - 180 = 0 \rightarrow (m+12)(m-15) \rightarrow m = \sqrt[3]{15} = \frac{12x}{a} \rightarrow m = 15$$

$$12x^r - 12x + 1 \varepsilon = 0 \rightarrow x = \frac{+12}{4} = 3 \rightarrow \text{جواب}$$

6

7

$$a^r = \alpha \beta \rightarrow a^r = \text{ضرب} = 2a - 1 \rightarrow a^r - 2a + 1 = 0 \rightarrow a = 1$$

$$x^r + 2(a+1)x + 2a - 1 = 0 \xrightarrow{a=1} x^r + 4x + 1 = 0 \rightarrow \boxed{a = 1 \text{ جواب}}$$

$$2x^r - vx^r - a = 0 \rightarrow 2p^r + 23p + 23 = ?$$

$$x^r = t \rightarrow t^r - vt - a = 0 \rightarrow t = \frac{v + \sqrt{v^2 + 4a}}{2} \rightarrow x^r = \frac{v + \sqrt{v^2 + 4a}}{2}$$

$$\rightarrow S = 0 \Rightarrow p = -\left(\frac{v + \sqrt{v^2 + 4a}}{2}\right) \rightarrow 2p^r = a + v\sqrt{v^2 + 4a} \rightarrow \text{جواب}$$

8

$$y = kx^r - \varepsilon x - 4 \text{ و } y = -\varepsilon x - \varepsilon$$

$$\text{ext} \left\{ \begin{array}{l} \frac{-b}{ra} = \frac{\varepsilon}{rk} = \frac{r}{k} \\ \frac{-\Delta}{\varepsilon a} = -\frac{(14 + 2 \varepsilon k)}{\varepsilon k} \rightarrow \frac{-\varepsilon(\varepsilon + 4k)}{\varepsilon k} = \frac{-\varepsilon - 4k}{k} \end{array} \right.$$

$$y = -\varepsilon x - \varepsilon \rightarrow \frac{-\varepsilon - 4k}{k} = -\varepsilon x \frac{r}{k} - \varepsilon \rightarrow \frac{-\varepsilon - 4k}{k} = -\frac{1}{k} - \frac{\varepsilon x}{k}$$

$$-\varepsilon - 4k = -1 - \varepsilon k \rightarrow -\varepsilon + 1 = 4k \rightarrow k = 2 \rightarrow \frac{-\varepsilon - 4 \times 2}{2} = \frac{-\varepsilon - 8}{2} = \frac{-14}{2} = -7 \rightarrow \text{جواب}$$

9

$$y = -mx^r + m(x+1) \quad y = -m - x$$

$$-mx^r + m(x+1) = -m - x \rightarrow mx^r - (m+1)x - (m+1) = 0 \rightarrow \Delta < 0$$

$$(m+1)^r + \varepsilon m(m+1) = 2m^r + 4m + 1 < 0 \rightarrow (m+1)\left(m + \frac{1}{a}\right) < 0 \rightarrow -1 < m < -\frac{1}{a}$$

10

تعداد اعداد صحیح صفر